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1 HasEs 16*7.2 +115.2*0.15 Fr5| 132 80 10560
2 EIzS 16*8*4 + 512*0.15 75| 5888 | 35 20608
3 ST 16+16*0.3 GTD330&fM= & | 208 | 350 7280
4 )T 32+32*0.3 & | 416 | 100 4160
5 TR (24+15+16+16+4+12) +87*0.3 P3EBEF/MNAKEBFRE |F5 | 1131 350 39585
6 FEERIK AREEHIREHI6*1 ™ 1 2500 2500
7 SHERNT W5h E 1 3000 3000
8 EENTw NEFrled YT * | 100 30 3000
9 ERIATAEM 5*1 ™ 2 1500 3000
10 HEBX SAVES M LES) 7| 150 15 2250
11 | =5 (8+4) &% 1+0.3 £ | 13 | 8500 11050
12 FELHNETRUSSEE 14 + 5*2 + 24*0.15 ¥ | 276 | 80 2208
13 IEN) 4+4*03 1500GTD JENTESH= & | 52 | 1500 7800
14 YRR 16 +16*0.3  FA7KPUERMIART & | 208 | 100 2080
15 BT BREHEE 3k | 100 15 1500
16 KTHERIBIT T 50+ 50*0.3 & 25 350 8750
19 | #FEpXBIREMN LEDEEKITER + led 24T + LEDSUEINT IR 18000| 18000
20 | EBARWITCSERMK I 13000 13000
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